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HS FHK TR BE#CED FER FAEH(E2) it E EEES
14698 [801% S NIEFET HY (EFETIEHRL) 3A11H HY) (EEMERG) 7wl
14699 |20f% S IR HY (BETEAEW) 38128 HY (B%49) N3]
14700 |204% S ER™ HY (EFETIEHRL) 3813H »HY (B3549) N 3=
14701  [104% St IR HY (BETEAEW) 3813H HY (B%49) ENFE
14702 |204% S ER™ HY (EFETIEHRL) 3814H »HY (B3549) N 3=
14703 [204% St IR HY (BETEAEW) 3813H HY (B%49) N3]
14704 |204% S ER™ HY (EFETIEHRL) 3813H »HY (B3549) N 3=
14705 [204% St BRREATERN HY (BETEAEW) 3813H HY (B%49) N3]
14706 |104% Bt e L) HY (FEETIEAW) 3R 14H - L
14707 |10mATE |ZME IR HY (BETEAEW) 38148 HY) 5L
14708  |404% Bk KD ET HY (BETIEARW) 3B13H ) ELIN S
14709 (204 St BRREFTERN HY (BETEAEW) 3813H HY (BI%49) N3]
14710 [404% pegis ER™ HY (BETIEEW) 3A13H - E=gan=|
14711 [404% S BRREREN HY (BETEAEW) 3A13H - BEx
14712 |404% S BRIREFTEN HY (BETIEEW) 3A11H - E=gan=|
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= FR R BE#(GEL) KR FAEH (£2) AR S
14713 [204% Bt KD ET HY (BETHEARL) 3B 14H HY L
14714 |704% Eegc SR AT HY (BETEAEW) 38 14H HY (HE - REMHEKE3) L
14715 [204% Bt EIRT fERER 38141 - L
14716 |10mA0E (B IR HY (BETEAEW) 3A13H HY (HE - REMEKEL) L
14717 [304% Bt B RRERREN HY (BETIEARW) 3813H - BileS:a=]
14718  |104% Legc BRREREN HY (BETEAEW) 3813H - L
14719 [204% Bt B RRERREN HY (BETIEARW) 38 15H - BileS:a=]
14720 |504% S BRREREN HY (BETEAEW) 38 14H - E=yan=|
14721 |10m%kim |zt SR REREN HY (BETIEARW) 38 15H HY L
14722 [104% S SR ET HY (BETEAEW) 3813H HY) 5L
14723 |404% peq L e L) HY (BETEARWL) 3R 14H »HY AL
14724 |304% S BREREFRERN IR 38 14H HY Eyan=|
14725 |104% Bt ERT HY (BETEARW) 3B 14H - L
14726 |10mA0m |ZME BRREMEN HY (BETEAEW) 38128 HY) 5L
14727 |704% Bt B RRERREN FERER 38141 HY L
14728 |10mA0m |ZME BEH HY (BETEAEW) 38128 HY) 5L
14729 |104% peq L S50 HY (BETIERWL) 3A13H »HY AL
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14730 [304% peq L BEH HY (BETIERWL) 3A13H ) L
14731 |10 |21 IR HY (BETEAEW) 3813H - L
14732 [204% Bt B RREREN HY (BETIEARW) 3B 14H HY (Bii549) NBE
14733 [604% S IR HY (BETEAEW) 3A13H HY (HE - REMEKS3) BEX
14734 |604% peq L ERT HY (BETIEARW) 3813H HY (BB - REMEKS3) BEZ
14735 |104% S IR HY (BETEAEW) 3A12H HY (HE - REMEKS3) L
14736 [304% Bt ERT HY (BETIEARW) 3R11H HY (BB - REMEKS3) BEz
14737 |10mFKE (B IR HY (BETEAEW) 38148 - L
14738  |10m%kim | Btk ERT HY (BETIEARW) 3B 14H HY L
14739 [604% Legc BREREFRERN IR 38 14H HY BEx
14740  |404% peq L B RRERREN FERER 3R 14H Y ez
14741 |10mA0E (B BREREFRERN IR 38148 HY) L
14742 |10m%Ki |2tk SRR AT HY (BETHEARL) 38 15H HY (BB - REMEK63) L
14743 |304% Legc IR HY (BETEAEW) 38 14H HY (HE - REMEKE2) RNBE
14744 [304% peq L B RRERREN HY (BETIEARW) 3B 14H HY (BB - REMEKG3) FEnE
14745 |704% S BREREFRERN IR 38 14H HY (HE - REMEKGE3) Eyan=|
14746 |504% peq L SR REREN HY (BETIEARW) 3R11H HY (F1:80) NBE
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14747  |10m%Ri |2tk EIRT HY (BETIEARLW) 3A12H HY (BB - REMEKS3) L
14748 |404% Eegc BRREREN HY (BETEAEW) 38 14H HY (HE - REMHEKE3) RNBE
14749  |104% peq L B RREREN HY (BETIEARW) 3B13H HY (BB - REMEK63) L
14750 |704% Eegc BREREFRTERN IR 38 14H HY (HE - REMHEKGE3) L
14751 |10m%kim | Btk AR AT E N HY (BETIEARW) 3B 14H HY L
14752 |10mA0m |ZME HEMREEFTE W HY (BETEAEW) 38128 HY) 5L
14753 [304% Bt AR AT E N HY (BETIEARW) 3810 HY (fR%EEF2) E=van=|
14754 |10 A0E |ZME HEMREEFTE W HY (BETEAEW) 3813H - L
14755  [304% i Em HY (BETEAEW) 3A12H - 218
14756  |204% B =l HY (BETEAEW) 3A8H - E=yan=|
14757  |404% peq L F( =i HY (BETIEARW) 3A9H ) Eilzy=3=}
14758  [304% Legc t&E™ HY (BETEAEW) 3A12H HY RNIBE
14759  |404% peq L F( =i HY (BETEARW) 3A12H - BileS:a=]
14760 [204% 7 B4 (REREBRTEN) HY (BETEAEW) 3A9H - 3L
14761 |504% % el ) HY (EFETIEHRL) 3812H - BHEZ%E
14762 |504% B bk HY (BETEAEW) 3A10H - E=yan=|
14763 [204% Bk AR E N HY (BETIEARW) 3R11H HY (£R%EEF2) E=van=|
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14764 [204% peq L AR AT E N HY (BETIEARLW) 3A12H HY (fR%EEF2) E=vag=|
14765  [204% St FERRBFTE XN HY (BETEAEW) 38128 HY (HEREEFE2) Eyan =]
14766  [204% peq L AR AT E W HY (BETIEARW) 3A12H HY (fR%EEF2) E=vag=|
14767 [204% St FERRBFTE XN HY (BETEAEW) 3813H HY (HREEF2) Eyan =]
14768  [204% Bt AR AT E N HY (BETIEARW) 3R11H HY (fR%EEF2) E=van=|
14769 [304% 7 =l HY (BETEAEW) 3A12H HY BilzN: 7=
14770 |204% % el ) HY (EFETIEHRL) 3814H &HY) =ft8
14771 [204% B =l HY (BETEAEW) 3A12H - E=yan=|
14772 [504% B Jt ks HY (BETEAEW) 3A11H - 218
14773 |10mA0E |ZME t&E™ HY (BETEAEW) 3A11H - L
14774 107 K08 |31% &M HY (BETIEEW) 3A10H HY (F#:80) 7L
14775 |404% i =l HY (BETEAEW) 3A12H HY BilzN: 9=
14776 |10m%Rim |zt AR AT E N HY (BETEARW) 3A12H HY L
14777 |704% S t&E™ HY (BETEAEW) 38108 HY) 5L
14778 |104% % el ) HY (EFETIEHRL) 3813H &HY) mL
14779  |104% Legc HEMREEFTE W HY (BETEAEW) 3A13H HY (F180) L
14780  |404% peq L F (=i HY (BETIEARW) 3A12H - E=van=|
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14781  |504% peq L AR AT E N HY (BETIEARLW) 3B13H HY NR— b & A< —
14782  |204% B bk HY (BETEAEW) 3A10H HY Eyan=1|
14783 |704% peq L AR AT E W HY (BETIEARW) 3R11H HY L
14784  |204% i bk HY (BETEAEW) 3A13H HY Eyan=1|
14785 [304% peq L AR AT E N HY (BETIEARW) 3A12H HY (F1£80) TILNA b
14786  |404% S t&E™ HY (BETEAEW) 3A13H HY Eyan=|
14787  |404% peq L F (=i HY (BETIEARW) 3813H ) Eilzy=3=}
14788 |104% S HEMREEFTE W HY (BETEAEW) 38148 HY) 5L
14789 |10m%AKum |21% &M HY (BETIEEWL) 3A14H HY (F#:80) 7L
14790  |404% Legc t&E™ HY (BETEAEW) 3A13H HY Eyan=|
14791 |104% Bt F( =i HY (BETIEARW) 3813H HY L
14792  |104% Legc t&E™ HY (BETEAEW) 38128 HY) 5L
14793 [304% peq L F( =i HY (BETEARW) 3B 14H HY NR— b & A< —
14794  |204% B =l HY (BETEAEW) 3A12H HY Eyan=1|
14795 |10m%KuE |3C1% &M HY (BETIEEW) 3A13H HY 7% L
14796 |10mA0m |ZME t&E™ HY (BETEAEW) 38148 HY) 5L
14797 |104% Bk F (=i HY (BETIEARW) 3A12H HY L
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14798  |604% Bt F( =i HY (BETIEARLW) 3B 14H ) E=vad=|
14799  [604% Eegc tE™ HY (BETEAEW) 38 14H HY Eyan=1|
14800 [10m%kim | Btk s[5 HY (BETEARL) 3A12H - L
14801 [304% i =B HY (BETEAEW) 3A13H HY BilzN: 9=
14802 |10m%kim |zt S|l HY (BETHEAWL) 3A12H HY L
14803 [304% 7 =l HY (BETEAEW) 3A13H HY Eyan=|
14804 |104% Bt S|l HY (BETHEAWL) 3B 14H - L
14805 [304% S feEm HY (BETIEARWL) 3A13H Y (F1%80) NEE
14806  |501% peq L AR AT E N HY (BETIEARW) 3B 14H - E=van=|
14807 [604% S t&E™ HY (BETEAEW) 38 14H HY (F180) L
14808 [104% Bt BNRERTE N FERER 3A12H HY L
14809 |10k (B BN HY (BETEAEW) 3815H HY) 5L
14810 |404% peq L BNRERTE X HY (BETHEARL) 3A12H ) E=vad=|
14811 |104% S BINREEFTEA HY (BETEAEW) 3815H HY) 5L
14812 |104% Bt BNRERTE X HY (BETHEARL) 3810 - L
14813  |404% S BINREEFTEA HY (BETEAEW) 3A15H HY Eyan=1|
14814 [804% peq L B3 HY (BETHEARWL) 3B 14H HY (SEHE%20) #L
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14815 [104% Bt ENRERTE X HY (BETHEARL) 38 15H HY L
14816  [801% Eegc BNRIEFTE A IR 3815H HY) L
14817 |10m%kim | Btk B fERER 381508 HY L
14818 [501% S BN HY (BETEAEW) 38 14H - BEX
14819 [204% peq L ENRERTE X HY (BETHEAWL) 3B 14H - L
14820 (304% S BN HY (BETEAEW) 3A13H - E=yan=|
14821 [204% peq L ENRERTE N HY (BETHEAWL) 3813H - ELN S
14822 |104% Legc BN HY (BETEAEW) 38148 HY) 5L
14823  |10m%kim | Btk B3 HY (BETHEAWL) 3B 14H HY L
14824 |10mFK0H (B BINREEFTEA HY (BETEAEW) 38148 HY) 5L
14825 |104% peq L B3 HY (BETEARWL) 38 15H HY L
14826  [601% S BINREEFTEA HY (BETEAEW) 3A12H - E=yan=|
14827 |104% Bt B3 HY (BETHEARL) 3810 HY L
14828 |204% S BN HY (BETEAEW) 3815H HY) 5L
14829 [204% peq L B3 HY (BETHEARL) 3B 14H HY L
14830 |10k (B BN IR 3A15H HY (FK81) L
14831 |604% Bk B3 HY (BETHEARWL) 3B 14H ) E=vad=|
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14832  |10m%kim |zt B3 HY (BETHEARL) 3B 14H HY L
14833  [504% peq L BRNREFTE N HY (BETIEARWL) 3A108 HY (BEEMER20) BilzN3=}
14834  [304% peq L B HY (BETEARL) 38 15H HY (SiEHE%20) BileS:a=]
14835 |204% S BN HY (BETEAEW) 3A12H HY Eyan=1|
14836 |704% pegis BN HY (EFETIEHRL) 3815H HY (EEnEMEEZ20) mL
14837 [804% Legc BN IR 3A15H HY (SiHEMEK20) L
14838  [804% peq L B3 HY (BETHEAWL) 38 15H HY (SiEHE%20) #L
14839  |404% S BN HY (BETEAEW) 3A12H HY (SiHEMER20) SilzN: =]
14840 |704% peq L ENRERTE N FERER 38150 »Y (BEERE20) BileS:a=]
14841 |204% S BINREEFTEA HY (BETEAEW) 38 14H - E=yan=|
14842  [304% peq L B3 HY (BETEARWL) 3B 14H - BE3
14843 |10m&0m (B BN HY (BETEAEW) 3815H - L
14844  |10m% ki | Btk B3 HY (BETHEARL) 38 15H HY L
14845 |104% S BN HY (BETEAEW) 3A15H HY (F’81) L
14846  |104% Bt B3 FERER 381508 »HY (F#81) #L
14847 |304% S —Eh HY (BETEAEW) 3A13H HY (FKT5) Eyan=|
14848  [304% peq L —BgmH HY (BETIEARW) 3B13H ) E=vad=|
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14849  [10m%kim | Btk —BgmH HY (BETIEARLW) 3A12H HY (FH87) #L

14850 |104% S —Eh HY (BETEAEW) 3A13H HY (FR8T) L

14851 |10m%kim | Btk —BgmH HY (BETIEARW) 3B13H HY (FH87) #L

14852 |10m%&0m (B —Eh HY (BETEAEW) 3A13H HY (FR8T) L

14853 [104% Bt —BgmH HY (BETIEARW) 3A12H HY (FH87) #L

14854 |10mA0m |ZME —Eh HY (BETEAEW) 38 14H HY (FR8T) L

14855 |601% S —Bm HY (BETIEEWL) 3F14H HY) E=gan=|

14856  |404% Legc —Eh HY (BETEAEW) 3A13H HY Eyan=|

14857 [104% i —BI™ ER 3A13H HY L

14858 |704% S —BH IR 3A13H HY Eyan=|

14859  |604% Bt —BgmH HY (BETIEARW) 3810 HY (SimEE%21) N— k& <—
14860 |704% Legc —BH IR 3A15H HY (SHEMmKR2L) L

14861 [804% Bt —BgmH HY (BETEARW) 3B 14H HY (SimEE%21) #L

14862 [801% S —Eh HY (BETEAEW) 3A13H HY (SmEmER21) L

14863  [804% peq L —BgmH HY (BETIEARW) 38 15H HY (SimEE%21) #L

14864  |801% Eogi —Bam HY (BETEAEW) 38148 HY (EEMHEEKS) mL

14865 |504% pegis —Bm HY (EFETIEHRL) 3814H HY) (EEMEHKS) SileN:3=]
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14866 |501% peq L —BgmH HY (BETIEARLW) 3B 14H ) E=vad=|

14867 |504% S —BEMREFTEN HY (BETIEARWL) 3A13H HY (FIK87) ESANES

14868 |404% peq L —BEHREFTE N HY (BETIEARW) 3B13H HY (FH87) FEnE

14869 |404% Eegc —Eh HY (BETEAEW) 3A12H - E=yan=|

14870 |10mAuE | B AARE HY (BETIEAEW) 3A9H HY) (F1:88) %L

14871 |10mA0m |ZME K™ HY (BETEAEW) 38 10H HY (F1288) L

14872 [304% peq L KA HY (BETIEARW) 3A12H HY NR— b & A< —
14873  |204% S K™ HY (BETEAEW) 3813H HY) 5L

14874  |604% Bt By (KAE) HY (BETEARWL) 3R11H Y E=vad=|

14875 |204% B RSB HY (BETEAEW) 3813H HY) 5L

14876 |704% pegis AARE HY (EFETIEHRL) 3814H »HY (BI54T) mL

14877 |304% Legc K™ HY (BETEAEW) 38 14H HY (F1%88) SilzN: 9=
14878  [304% Bt KA HY (BETEARW) 3B 14H HY (F1%88) E=van=|

14879 |10m&kE (B K™ HY (BETEAEW) 38 14H HY (F1%88) L

14880 |704% Bt BERT= AT HY (BETIEARW) 3A12H HY (BB - REMEKLI) E=van=|

14881 |104% Legc K™ HY (BETEAEW) 38148 - L

14882 [501% S BEgl =™ HY (BETIEAW) 3A14H »Hl) N 3=
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14883 |504% S BEgl =™ HY (EFETIEHRL) 3A15H &HY) N 3=

14884 [504% B BERImHE™ HY (BETEAEW) 38 14H HY RNBE

14885 [204% Bt BERTS AT HY (BETIEARW) 3B 14H - L

14886 |10m&im (B ERREFTEA HY (BETEAEW) 3815H HY) L

14887 [304% Bt =i HY (BETIEARW) 3A12H - NR— b & A <—
14888 |104% Legc =hm HY (BETEAEW) 3A11H HY) 5L

14889 [104% peq L =i HY (BETIEARW) 3813H HY L

14890 |204% S =hm HY (BETEAEW) 3813H HY) 5L

14891 [104% peq L BEREEN HY (BETIEARW) 3A12H HY L

14892 |104% Legc EHREMEN HY (BETEAEW) 3A8H HY 3L

14893  |704% Bt BEREEN HY (BETIEARW) 3A12H HY L

14894  [304% S EHREMEN HY (BETEAEW) 38 14H HY BilzN: 9=
14895  |604% peq L BEREMEN HY (BETEARW) 3R11H HY L

14896  |404% Legc ARREFTERN HY (BETEAEW) 3A12H HY Eyan=1|

14897 [304% peq L AFEH HY (BETIEARW) 3810 HY (BB - REMEKS6) N— bt & A <—
14898  |404% S ARREFTERN HY (BETEAEW) 3A9H HY BEX

14899 |10m%kim | Btk AFEH HY (BETIEARW) 3R11H HY (BB - REMEKS9) L
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14900 [10m%kim |zt ATIRBEFTE N HY (BETIEARLW) 3R11H HY L
14901 |104% Eegc ARREFTEN HY (BETEAEW) 3A9H HY (HE - REMBEKS9) L
14902 [104% Bt ATEIREFTE N HY (BETIEARW) 3A9H HY (BB - REMEKS9) L
14903 [304% Eegc AR™ HY (BETEAEW) 3A5H HY 3L
14904 [104% peq L AFEH HY (BETIEARW) 3813H - L
14905  [304% peq L ARIREFTE N HY (BETIEARWL) 3A13H HY N3]
14906 |10m%kim |zt ATIREFTE N HY (BETIEARW) 3A12H HY L
14907 |104% S ARREFTERN HY (BETEAEW) 3815H - L
14908 [104% Bt —F HY (BETIEARWL) 38130 HY (F189) AL
14909 |104% S —Fm HY (EETIEAEW) 3A13H HY (F1889) 5L
14910 [104% peq L —FHT HY (BETEARL) 38130 HY (F791) AL
14911 |104% B vl HY (BETEAEL) 3A13H HY (F1889) 5L
14912  [10m%kim | Btk —FHT HY (BETEARWL) 3R15H HY (FKT3) AL
14913 |404% i vl HY (BETEAEWL) 3A15H HY (FR1) BEX
14914  |104% peq L —FHT HY (BETHEARL) 3R 141 HY (FKT3) AL
14915 |104% B vl HY (BETEAEWL) 38 14H HY (FR1) 5L
14916  |104% peq L —FHT HY (BETEARL) 3R 14H HY (F791) AL
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14917 |104% Bt —FHT HY (BETEARL) 3R15H HY (F791) AL
14918 |104% B vl HY (BETEAEL) 38 14H HY (FR1) 5L
14919 [104% Bt HFEHR HY (BETEARL) 3R 141 HY (F189) AL
14920 [504% S —Fm HY (EETIEAEW) 3A13H HY (F189) Eyan=|
14921  |104% Bt —F HY (BETIERWL) 3R 141 HY (F189) AL
14922 |104% 7 —F HY (BETEAEL) 3A13H HY (F1889) 5L
14923 [104% Bt —FHT HY (BETIEARL) 3R12H HY (F189) AL
14924  |104% i vl HY (BETEAEL) 3A15H HY (FR1) 5L
14925  |404% Bt —FHT HY (BETEARL) 3R15H HY (F791) E=van=|
14926  |404% i vl HY (BETEAEL) 38 14H HY (F1889) SilzN: =]
14927 |104% peq L —FHT fERER 3R 141 HY (FKT3) AL
14928 [304% Legc “FREFFEA HY (BETEAEL) 3A11H HY (FRID) SilzN: =]
14929 [104% Bt —FHT HY (BETEARWL) 38130 HY (F791) AL
14930 |104% S —Fm HY (EETIEAEW) 38 14H HY (F1889) 5L
14931 [104% peq L —FHT HY (BETHEARL) 3R15H HY (F791) AL
14932 |104% B vl HY (BETEAEWL) 3A13H HY (FR1) 5L
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